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COMMERCE
Paper — lI

Note : This paper contain§fty (50) objective typequestions oftwo (2) marks eachAll
guestions are compulsory.

1. Assertion (A) : Corporate culture is generally consigras either closed and threatening

or as open and participatory.

Reason (R) :Corporate culture and style of funating of top managers is important
factor for determining the inteal environment of a company.

Codes :

(1) (A)is correct, but (R) is incorrect.

(2) Both (A) and (R) are correct and)(R the correctxplanation of (A).

(3) Both (A) and (R) are correct, but (R)not the correctelanation of (A).

(4) (R)is correct, but (A) is incorrect.

2. Statement | :If the workers develop an attitudé non-cooperation wh Management, a

repressive economic system may be neadeet right this industrial disorder.

Statement Il : By fulfilling social responsibility towards shareholders, employees,
consumers, government and communitypuginess achieves economic growth and
increases public image.

Codes :

(1) Statement | is correct, but Il is incorrect.

(2) Both the statements | and Il are correct.

(3) Statement Il is correct but I is incorrect.

(4) Both the statements are incorrect.

3. Match the items of List-l with List-II.

List — | List — Il
a. Planning Commission . 1993
b. Competition Act i. 2002
c. Adrian Cadbury Cémmittee ii. 1951
d. Rangrajén Committee on Disinvestment im. 1991
PSEs 4
Codes :
a b c d
@ i i iii iv
(2) i [ iV i
(3) iii i iv [
(4) i i [ iV
4.  From which Five Year Plan “Growth witBocial Justice” haseceived emphasis ?
1 3" 2) 6"
3) ™ (4) 10"
Paper-II 2 JA-008-17
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5.  Which of the following is not the objective of the Competition Act, 2002 ?
(1) Prohibitionof Restictive Trade Practices.
(2) Prohibition of Dominant Position
(3) Prohibition of Anti-competitive Agreements
(4) Regulatiorof Combinations

6. Consolidated financial statements are prepared on the principle
(1) Inform the companies are one entity, in substance they are separate.
(2) Inform companies are separate, in substance they are one.
(3) Inform and substance the companies are one entity.
(4) Inform and substance the companies are separate.

7. Match the items of List-1 with those bfst-1l and indicate the correct code :

List — | List — Il

a. Acid Test Ratio i.  Profitability analysis
b. Debt Service Coveragefa ii. Activity analysis |
c. Debt Equity Ratio jii. Liquidity analysis’ {
d. Stock Turnover Ratio V. Lgﬁg—ternfsolvency analysis
Codes :

a b c d
@) i i i iV
(2) i il iV [
(3) iii iv i i
(4) i [ iv i

8. From the following two statements of AssemtiA) and Reason (R), indicate the correct
code :
Assertion (A) : From the marginal costing approggbint of view, the marginal cost is
compared with the purchase price.

Reason (R) :If the marginal cost is less tharetipurchase price it should be purchased
rather than manufactured.

Codes :

(1) (A) and (R) both are correct.

(2) (A) is correct, but (R) is not correct.
(3) (A)is not correct, but (R) is correct.
(4) (A) and (R) both are incorrect.

9.  Which one of the following statements is true about standard labour time ?
(1) Standard labour time indicates thradiin hours needed for a specific process.
(2) Itis standardized ondlbasis of past experience.
(3) Infixing standard time due allowance slibnbt be given to fague and tool setting.

(4) The Production Manager does not proval®/ input in sethg the labour time
standards.
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10. Under the yield method of valuation of equstyare capital, if for an equity share3o50,
the normal rate of return is 10% and expectad of return is 5%, then the value of an
equity share will be

(1) 25 (2) T40
(3) 50 (4) %100
11. Match the items of List-I witlthe items of List-1l and denethe code of correct matching.
List— I List—1II

a. Hypothesis of Sales Revenue W.J. Baumol
Maximization

b. Hypothesis of Maximization ofii. Robin Marris :
Firm’'s Growth Rate f

c. Hypothesis of Maximization ofiii. O.E. Williamson _f“
Managerial Utility Function ;

d. Hypothesis of Satisfying Baviour iv. Cyertand March |

Codes :
a b c d

Q) i [ iii \Y

(2) i iii [ iV

3) i i iii \Y

4) i iV i iii

12. Which of the following is not a correct matchingth regard to price elasticity, change in
price and change in total revenue ?

Price elasticity coefficient | Change in price | Change’in total revenue
(1) Zero Increase { Increase
Decrease Decrease
(2) Less than one  { Increase Decease
! Decrease Increase
(3) Equal to one » Increase No change
; Decrease No change
(4) Morethanong =~ Increase Decrease
\ { Decrease Increase

13. The short-run production function for a firm is as follows :
Q=-13+1512+10L
Where Q denotes total output in physicaltsi@nd L denotes units of labour which are
homogeneous, but are not patly divisible and changen labour doesnot tend to
become zero.
Statement | :In this production functiorthe marginal product of5unit of labour is 85.
Statement Il : Similarly, in this productionifnction, the average product of tHR it of
labour is 60.
Codes :
(1) Both the Statements are true.
(2) Both the Statements are false.
(3) Statement | is true, while Statement Il is false.
(4) Statement | is false, but Statement Il is true.
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14. The Kinked demand curve model of oligopoly was developed by
(1) Augustin Cournot (2) Stackelberg
(3) Edgeworth (4) Sweezy

15. For the success of the penetration price goliwhich one of the following is not
desirable ?

(1) Short-run demand for the producthive elasticity greater than unity.
(2) Availability of economes of large scale production.

(3) Product to have verywocross-elasticity of demand.

(4) Easy acceptance and adoption of the product by the consumers.

16. Statement | :The absolute value of the diffe@nbetween an unbiased estimate and the

corresponding population parameitecalled sampling error.

Statement 1l : Multi-stage sampling is a restrggt non-probability based sampling
technique.

Indicate the correct code :

(1) Both the Statements are correct.

(2) Both the Statements are incorrect.

(3) Statement | is correct, while Statement Il is incorrect.

(4) Statement | is incorrect, while Statement Il is correct.

17. Match the following items of List-lI and &i-Il with regard tohypothesis-testing and
indicate the code aforrect matching.

List—1 4 ' A List — I
a. The ability of test toeject th(i- null hypothesis when. Level of significance
it is false. | ¢
b. The probability of accepting a falsull hypothesis. ii. Type I error

c. The probability of recting a true null hypothesisii. Type Il error
due to sampling error.
d. The probability of rejecting a trueull hypothesis.  iv. Power of a test
Codes :

a b c d
Q) iv il i iii
2) iv iii i ii
(3) i ii il iv
(4) i iii [ iv

18. Which one of the following is a false statement ?
(1) The signs of the regression coefficients are always the same.
(2) Correlation coefficient is the geometmean of the two regression coefficients.

(3) The co-variance between two variabtbgided by the product of their standard
deviations produces the valueaafefficient of correlation.

(4) Coefficient of correlation is ingendent of origin but not of scale.

Paper-II 8 JA-008-17
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19. If the two regression coefficients are CGa®d 0.2, then the value of coefficient of
correlation is

(1) -0.16 (2) +0.50
(3) +0.40 4) -0.40
20. Process of arranging data into a new order is called
(1) Manipulation of data §2 Standardization of data
(3) Sequencing of data (4) Standardized input

21. Developed by the Special ProjecOffice of the U.S. Navythis technique was first
formally applied to the planning and contad the Polaris Weapon System in 1958 and
worked well in expediting the completion thiat programme. The technique is known as
(1) Gantt Chart (2) PERT
(3) CRM (4) Milestone budgeting

22. Consider the following statements relating to planning and find out which of the following

are correct :

Statement | : The operating personnel should notdssociated with #h preparation of
the budget.

Statement Il : A programme indicates the principal operations to be carried out to
accomplish a work.

Statement Il : Under MBO technique, the Managstsould be provided with a freehand
to laydown the objectives.

Codes :
(1) Only Statement | is correct. (2) Only Statement Il is correct.
(3) Only Statement 11l is correct. (4) Only Statements | and Ill are correct.

23. Assertion (A) : Sympathetic listening in upward@ommunications often leads to
resentment in communicator.

Reason (R) : Sympathetic listening and encouraging remarks often lead the
communicator to believe that his propogall receive action not contemplated by
superior (communicatee).

Codes :

(1) (A)is correct and (R) is the right explanation to it.

(2) (A)is correct, but (R) inot the right explanation to it.

(3) (A) is not correct while (R) is a correct statement.

(4) Both (A) and (R) are incorrect.

24. Assertion (A) : Herzberg believes that today’s matigrs are tomorrow’s hygiene factors.
Reason (R) :Some job conditions operate primartly dissatisfy employees when they
are absent, but their presence does not motivate them in strong way.
Codes :
(1) (A) and (R) both are correct and) (R the right explanation of (A).
(2) (A) and (R) both are eceect, but (R) is not theght explanation of (A).
(3) (A)is not correct while (R) is a correct.
(4) Both (A) and (R) are incorrect.
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25.

26.

27.

28.

29.

Which of the following statementsla¢éing to Henry Fayol are correct ?

Statement | : Authority and responsibility are rééal and former arises from latter.
Statement Il : Espirit de Corps is an extensiontbé principle of unity of command.
Statement Il : Unity of command means only one command at a time.
Statement IV : There are fourteen basic pripk@s identified by Henry Fayol.
Codes :

(1) Statements |, Il and IV (2) Statements Il and llI

(3) Statements | and IV (4) Statements Il and IV

Match the following items of List-1 (sources of competition) with List-Il (examples for
these sources of competition) andigate the code of correct matching.
List—1 List—1I
a. Directly similar products i. OLA Taxi and Metro Rail {
b. Available substitutes ii. Mercedes and BMW { r
c. Unrelated products iii. PVR and Amusement park
Codes :
a b c
Q) i i [
2 i il i
3) i i il
(4) i i i

The marketing task which finds ways to altiee time pattern of demand through flexible
pricing, promotion and othéncentives is called

(1) Demarketing (2) Synchromarketing

(3) Fleximarketing (4) Gorilla Marketing

Which of the following is noa reason for a firm to lose its market share to competitors ?

(1) A product/model is perceived by the &trgustomer group as satisfying needs.

(2) Customers not being covered by the canys sales force ardistribution outlets.

(3) Customers may have been lost to competitors due to poor service by the firm or its
sales personnel or product becogibbsolete or more expensive.

(4) All the above are correptasons for given condition.

Match the items of List-I with List-land denote the code of correct matching.
List—1° List — Il
Invest Strategy i.  No receiving of new resources.
Protect Strategy  ii. Well financed marketing efforts.
Harvest Strategy iii. Selective resource allocation
. Divest Strategy iv. Not warrting substantial new resources.
Codes :
a b C d
Q) i ii iV [
(2) i ii ii \Y
3) i [ iV iii
4) iv iii i [

coow
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25.

26.

27.

28.

29.

TR T § Feifid B 9 U Tel § 2
AT — | ISR SR I Heitud § 31X MR Jae @ S il € |
FHUT— || ST B THAT % (Ggid T AR Tafuie < e’ § |
FUT — ||| ;TSI P Tehl T T U 0T H TH & MR T & |
FIA— IV TR AT GRT TGE A G D Ted 6l X |
% :
(1) F=FI IRV (2) =T 11 R 1II
(3) FFI1ARIV (4) w1 AR IV
-1 B TR (AT & @) B G-I B TR0 (AAeTEt & 3 i & ol IIm@0T) & qre
THET oY @2 W&t T oot e o1 = &Y
T -1 = — 11 /
a VORI T AN ST i ST SR ud A e {1
b. ST U i, TS ud e, g, ( f
c. IHEF A€ iii. W S 3R T FARSH IR
%
a b c
(1) iii i i
2) i i i
@3) i i i
(4) i i i
e Tauue &’ oregul Jea (R, Sae= a9 37 Wedre- o Jred 9 6 o 9Hg wiaHe
I gt fmaT ST &, i ed ©
(1) fafaqoe (2) oo faquE
(3) ATt fauum (4) e g
fre=iferd o @ i fohdl w1 & ToTT 3197 uiqeaferat o6t o | 310 ST feed @iF ol RoT &l
T2
(1) THE e HTSeT i TR ST THE FRT SAYIHATS i IR HA AT HHT ST & |
(2) U % fashl =T T foaRor HET gRT ATeeh 1 FHE &l & W@ ¢ |
(3) Tohdr o 3reram T fofshl SHIfHeRT §RT Ticar T UG fhT STH 37reT SIS o Tveferd &l
ST 3T 3174 TE €1 & HRUT STHISRT Wiqeqell wHT & Scans/Hieet TRig ohld & |
(4) < T Teafoa | SugeRt Tt HROT e ¢ |
Gl-1 ol T&T T GeAI-11 ol TeT o Q1 T 6 a0 Qe fHet T ot e ol 98- Y |
- -
fem woefd | i SO ST T e e
TG OEE il A ey oo v
SUST OIS i, TETCHh T SEe
forfrerer oTgfifar iv. ST AT H AT HHEA B SETE T8 e

g o o

T

a b C d
Q) i iii iv i
2) i iii ii iV
(3) i i v iii
(4) iv iii ii [
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30. An elaborated version of the idea expressemeaningful congmer term is called
(1) Productimage (2) Product idea
(3) Product concept (4) Prototype

31. Which one of the following combination of rules stands true while preparing schedule of
changes in working capital ?
A. Anincrease in current assets increases working capital.
B. Anincrease in current assets decreases working capital.
C. Anincrease in current lidities decreases working capital.
D. Anincrease in current lidities increases working capital.

Codes :
(1) AandD (2) AandC
(3 BandC (4) CandD

32. Assertion (A) : The primary motive of a company msing financial leverage is to

magnify shareholders’ return urrdavourable economic conditions.

Reason (R) :To magnify shareholders’ return fixed charges fundshmmbtained at a
cost higher than the firm’s rate of return on net assets.

Codes :

(1) (A)is correct and (R) ihe correct explanation of (A).

(2) (A) is correct, but (R) is wrong.

(3) (R)is correct, but (A) is wrong.

(4) Both (A) and (R) are wrong.

33. Debt financing is a cheaper source of finance because of
(1) Time value of money (2) Rate of interest
(3) Tax deductibility of interest (4) Dividends are payable to lenders

34. Which of the following is not true wh reference to capital budgeting?
(1) Capital budgeting is relatéd asset replacement decisions.
(2) Cost of capital is equal tainimum required rate of return.
(3) Timing of cash flows is relevant.
(4) Existing investment in a pegt is not treated as sunk cost.

35. Which of the following statements is not correct ?
(1) The cost of capital is required raterefurn to ascertain the value of the firm.
(2) Different sources of funds have a speabist of capital relatetb that source only.
(3) Cost of capital does not comprise any risk premium.
(4) Cost of capital is basic data for NPV technique.

36. Which of the following is not the quality of human resources in any organization ?
(1) Their behaviour to stimuli isften inconsisters&ind unpredictable.
(2) They depreciate with passage of time in terms of skills.
(3) They are heterogeneous.
(4) Retaining qualified human resources is a challenge for managers.
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30.

31.

32.

33.

34.

35.

36.

e IUHIERT 3165 & Y | SAeger el o=l & foatid 9 ot sel Sar &
(1) 3R fo= (2) S FHEUA
(3) ST TEEROT (4) ey

Wﬁﬁ%ﬁ@%ﬁmﬁﬁwﬁw%@%°
Te] SR | ghg T HIIeier Goit gl € |
mqarﬁaa‘rﬁqﬁ@aﬂ?ﬂ?ﬁﬂlﬁﬁwﬁﬂ%%l

e AT | g & HraeieT Yol HH gt & |

=] et | iy | it gei Sl & |

9§|.Uosw>

(1) A D (2 A¥RC
(3) B3IRC (4) C3RD

At (A) o STie (SlaRsT) 1 STAT & | HUA! 61 S 32T H dh
fefaat & ST IRRUREHT & oY I T@T € |

& (R) : FIYURHT & A Bl T & [T Fad aRed it Haer snicaar w afaes
% AT %l 57 ¥ T AN I U bl ST Febell & |

&<

(1) (A)TE & 3T (R), (A) FT TEl WL & |
(2) (A)TEE, T (R)TT & |

(3) (R)FE &, W (A) T € |

(4) (A) 3R (R) 3 TToid € |

0T foraaiyor frefeafiad § 9 forges T fod o1 U 9%t &id § 2
(1) o9 % &9 o 2) =N
(3) AT Y T Hldl &THAT (4) AT YRS T 3T &l E |

ToTt Stfer o Fewl | Frfeiad § | s o1 9el Té 8 ?

(1) Ui Setten enfed e fomat @ defaa € |

(2) UST T AN A & A 7RI S o THH et € |

(3) 7% VETE 1 T T Sfad § |

(4) gt afEsTT & adue § 63 73 faeT S golt g8 A & w9 H T 9 S e o

ffefad & | i d1 FoF W& Tél & 2

(1) wiqe & Jod &1 9al o= o fora Gt st e o st 3yaferd 52 et € |
(2) fAfat & fafa=T S S ot 38 Hia & Fafd deft i fafeme A gt € |
(3) ST W AN H hig ST MHT I Fel g |

(4) OST ® ATTE T O A FeheTeh o foTd SR SeheT ¥ |

feifeha § @ 9 fohell e § OHa GQrEe i T[urET Tal 8 ?
(1) SEIUF F Ui STl FaER HTAT S a7 30T eI1 & |
(2) T % &G H GG e & Y ST B e § |

(3) FFEmATEd € |

(4) T S TEEF i AT TG T & fw e € |
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37. Human Resource Planning benefits to agaaization are reflected in which of the
combination of the following ?

a. Balance between demand and supply of human resources.

b.  Non-compulsion on management to assgtisally and continuously the employees
and personnel policies.

c.  Duplicationof effortsand conflicts are avoided.
d.  Minimizing the future returnsn investment in human resources.

Codes :
(1) aandb (2) aandc
(3) a,bandc (4) a,candd

38. A statement containing items such as jole titbcation, summary, des, materials used,
working conditions etc., is called

(1) Job specification (2) Job evaluation
(3) Job description (4) Job analysis

39. Match List-I with List-II rdating to theory of wages.

List — | ist <11
(Wage Theory) (Ptipéunder)
a. Wage Fund Theory i Joh'_n Davidson
b. Subsistence Theory * 4 i. DaVid Recardo
c. Residual Claimant Thedﬁyik iii. Adam Smith
d. Bargaining Theory of Wﬁges iv. Francis Walker
Codes : .
a b c d
Q) i iV [ iii
(2) i i iv [
3) iv [ iii i
(4) i ii iV [

40. Which organizational analysis method iedsamong the following, to develop various
efficiency indices relating to contribution biman capital in meeting the organizational
goals ?

(1) Objectivesanalysis
(2) Resource utilization analysis
(3) Taskanalysis
(4) Organizational climate analysis
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37. fordll WieA W e WA STEISHT & o iR o @ o T § widtsfiad g & 2
a.  OFE GETEHT G U YT & Se T |
b.  HHEANET qAT HIHH Faet TGt & [Tae-Teds Te AT 3o i Uee i STarerd |
c. VAT T foRrel % I & o S |
d. A GETEAT | e W Aiqsshiierss Ufdems i s =Aan T |

%<
(1) a3Wb (2) a@iRc
(3) a,b3c (4) a, c3Xd

38. & & AW, HE WA, W, HE1, ST T A T WHUET, HE IS, g F1l Bl At
X dTet TR St T ST €

(1) =d fatee= (2) F g
(3) wH faero (4) w faveioT

39. W%Wﬁ@ﬁdﬁﬁ%ﬁﬁ-lwajﬁ-uaﬂﬁﬁﬂﬁ:

Tt -1 , g 11
(FeTgRt ) ( )
a. qﬂ{ﬁﬁﬁlﬁ?@ﬁ i, = 4
b, STl faErd Wil e R
c. 3TERIY IrETHAT (ST « f iii. TeH foy
d. TR T WiETERT faEid b g ) iv. TRITGE STt
F<: R
a b C d
(1) i iv i ii
) iii i iv i
(3) iv i i i
@) i i iv i

40. WA & Tl B T FHA % [T G Ioit & AR F Fared fah= FRTerd Gashichl i R
X | =i B 9 5 GrieATcash foveioor ugid 1 SuanT fohar S € 2
(1) T e
(2) T 3UFT faveroT
(3) = fawetoT
(4) TSATHS ATATERUT fageryor

JA-008-17 17 Paper-I

www.examrace.com



41. Match the items of List-l with the items of List-ll regarding evaluation of project
application and suggest the correct code.
List—1 List—1II
a. Managerial Appraisal i. Analysis of working results.
b. Economic Appraisal ii. Dispasof factory effluents.
c. Financial Appraisal iii. Analysis about traits of an entrepreneur
d. Technical Appraisal iv. Angsis on employment potential
Codes :
a b c d
Q) i i v ii
(2) i [ iii \Y
(3) iii \Y [ ii
(4) iv iii ii [
42. Match the items of Column-I with the iteraColumn-II and suggest the correct code.
Column — | Column — I "
a. Relationship Banking i. Dealing m hundls and acceptance of deposits.
b. Merchant Banking ii. Wldenln/g the teepreneurlal basand assist in
a rapid rate of i | ustrlal growth.
c. Indigenous Banking iii. Engagedtime b ess of Issue Management.
d. Development Banking iv. Creatingnaintaining and enhancing strong
re*:st_tmnshm with Qustomers.
Codes :
a b c d
Q) iv ii [ iii
(2) i \Y iii [
3) iv iii [ ii
(4) i [ \Y iii
43. In which year, IFCI Act was amended in arde make it possible to provide assistance,
inter alia, for medical, healtbr other allied services ?
(1) 1960 (2) 1970
(3) 1973 (4) 1986
44. SIDBI was set up as a subsidiary of IDBI to
(1) Take over the functions small business financing of IDBI.
(2) Take over the venturemtal operations of ICICI.
(3) Reconstrucandrehabilitde the sick and closed industrunits financed by IDBI.
(4) Facilitate, finance and @mote India’s Foreign trade.
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A1, URANHT SMAGHYT Hodich © Halfed Geil-1 q°m Fei-11 S a1 1 el Y a2 &l $ & =997
T

T -1 e — 11
a. VEIHT Jodichd i,  SIERI gRoTE F e
b. 3T o ii. PREMT URTE FH F9eH
c. [foriia geoie iii. Tordt Serdt ol forerorarett s faveigor
d. TR Heaie iv. ST &TeeT Saelt Jodih
E
a b c d
1) i i iv i
) i i i iv
3) ii iv i i
4) iv iii i [
42. -1 0 TR B WT-11 3 T GATT Y SR Fel H T B
| -1 wa-1n |
a. Y ST i Wﬁw@w%aﬁrﬁﬁqum
b. AR ST i, wﬁwwwwm%aﬂ?aﬁ@ﬁaﬁﬁw
i ol g o T E |
c. TR ST i, TV USEA H  preter € |
d. fersbr sffem iv. TR &k WY e Hey MG HA 8, I I
TG & AN 3% Sewl € |
E
a b c d
1) iv i i i
) ii iv i i
@3) iv i i i
@) ii i iv i

A3, 3 S % -G TAfhedT, WA el 3 HeTash Warell & fold Werdar qedr T Sve
FH o HH H SARUEHSTE AaFaT § foha o Seiee fhar mar o1 ?
(1) 1960 (2) 1970
(3) 1973 (4) 1986

44, € S S IE B ATHATH HUAT F &7 A Taget H wrer FEfatad § @ e w9 w o
off 2
(1) = S ot 3T F Y FAA foraIToT o 1 P 370 Foot § oH b [T |
(2) 3TTE T IS W 3T F SEH il Terer B 3T Fot H o & fer |
(3) S TN Al 3T SR foid 0T 37N % TSl ST 33l % Jier IR [ % (7T |
(4) 9RA % o391 AR F GaesHe T9H, STHT oo FH 3T 3§ Fg6r 39 % 6w |
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45. Letters of credit, Guarantees, Forwardn@acts etc., come under which one of the
following ?

(1) Liabilities of a bank

(2) Assets of a bank

(3) Foreign exchange items of a bank
(4) Off-balance sheet items of a bank

46. Consider the following statements withgeed for the “Theory of Absolute Cost
Advantage” :

() Productive efficiency diffieed among different countriesecause of diversity in
natural and acquired r@grces possessed by them.

(i) The difference in natural advantage miasts in varying climate, quality of land,
availability of mineralsyater and other resources.

(i) The difference in acquideresources manifests in diféat levels of technology and
skills available.

Identify the correct code from the following :

(1) Statement (i) is correct, b(if) and (iii) are incorrect.
(2) Statements (i) and (ii) @correct, but (iii) is incorrect.
(3) All the statements (i), (ii) and (iii) are correct.

(4) None of the statements is correct.

47. Match the items of List-l with Ist-Il and indicate the correct code.

List — | 8 List — 11
a. Absolute Costi._ The empirical evidencéased on US export of
Advantage Theory \ labour intensive goods ahenging the factor

' I endowment theory.
b. Comparative Costii. A country having a direct cost advantage in the

Advantage Theory production of a product on account of greater
4 : efficiency.
c. Factor Endowrﬂentiii. A country should produce and export a
Theory | commodity that primarily involves a factor of
‘4 production abundantly available within the
! country.
d. Leontief *If"hradox iv. A countryhsuld specialize in the production
. and export of a commodity in which it possesses
greatest relative advantage.
Codes :
a b C d
@) i iv i [
(2) i iv [ iii
(3) i i i iv
4) i iv il i
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A5, WREYH, TREY, AEET WiaET, g FHeteared o 9 fhad v o § 2
(1) &% =i g
(2) < I SR
(3) % = fager fafw= wei
(4) 9% & ToFuA H FEHT 3T A

46. “Y0T AN oY & TG & Hey H fetaiad s W faer

() T I GRT O WIhiaeh 31 31T AT bt fafaerdr & sRoT A= 9 &t Scae
TIATH SRS |

(i) WHaE N F R uRadt Sorarg, g wH uEd, @S, Sl R 3 G9rEE &
TS | URATTT B € |

(iii) 3T FETEET A ST Sy Wi 3T et % ot wri # aiteterd g € |

fAfeRad o ¥ T % o TeaH

(1) = (i) Tt &, W (ii) 3 (iii) Tel &I |

(2) A (i) 3 (i) T &€, R (iii) T TR |

(3) = (i), (ii) 3R (iii) TN T T |

(4) g T T TR |

A7. -1 1 HET B G- QAT I SR T F o B

a1 < [ g — 11
a. U CINT o FAiE i B W ereqe o g U A R SR e
w | T g gragH faE S g Sar € |
b. TOHAIHE CAMd @Y ii. UH I N oAk STl o HRIT I o SARA |
fagia il - T ST T THerar & |

c. qu%’c:ﬂfeo—;m iii. TR 39T T 3T AT N SR R AT AT =Ml
- foram g w0 9 391 % & HieR 9 9 W SR %

"4 T YA & |
d. foaifves wyfoRemra v, Tt 397 1 U S o Scaee i fara o ferer
WF ) T TfeT ST S Helltush ATueT oy e &l |

T4

a b c d
Q) ii v iii i
(2) ii v i iii
(3) ii i iii v
4) i v iii i
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48. Match the items of List-I with List-land indicate the code of correct matching :

List—1 List—1I
a. Accommodating I. Creation of international reserve assets by
capital flow the IMF and their allocation among

member countries in order to improve
international liquidity.

b. Autonomous capitalii. Estimate of foreign exchange flow on

flow account of either variations in the
collection of related figures or unrecorded
illegal transactions of foreign exchange.

c. SDR Allocation iii. Inflow of foreign exchange to meet thel
balance of payments deficit, normally .1’;'
from the IMF. '

d. Statistical discrepancy iv. Flowof loans/investments in rormall
course of business.

-

Codes :

a b C d
@ i ii iv iii
(2) iii iv i ii
(3) i v ii [
(4) i i i iV

49. Statement | : TRIMS agreement refers to conditions or restrictions imposed on foreign
investors.

Statement Il : TRIMS agreement specifically forbids imposing restrictions on operations
of an enterprise which result in peoting domestic products and making imports
disadvantageous.

Codes :

(1) Statement | is correct, but Il is incorrect.
(2) Statement Il is correct, but | is incorrect.
(3) Both the statements | and Il are correct.
(4) Both the statements | and Il are incorrect.

50. Assertion (A) : Revenue from indirect taxes was the major source of tax revenue till tax
reforms were taken during nineties.

Reason (R) :Traditionally India’s tax regime relied heavily on indirect taxes including
customs and excise.

Codes :

(1) (A) and (R) both are correct, but (Bnot the correctelanation of (A).
(2) (A)is correct, but (R) is not correct.

(3) (A) and (R) both are correct and) (Rthe correctxplanation of (A).

(4) (A) and (R) both are incorrect.
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A8. get-1 TSI B Gell-11 T GAEIT DT 3R T&l He 1 T2 Y
T -1 T~ 11
a. STIEHN UST v i, 3T UH U GRT RIS STReT0T et b
o 3R FRILT oReAdl g & %H |

T 9N & S ST 3TMEe
b, TR ST yAE ii. foget fofma @ Wt oihel & GURT
31ar Repte T fohT T 2789 o937 | 3R &
HRT faelt faf e verme o1 ureshe
c. TH T 3N 3MeeA iii, STFAR T TS TA TF FNT A FHH & A
I HA o oI feeett fafe vare &
d. Wit foiaat iv. HHI SEEE FeRR H RUT/ eI %1 e i .
T4
a b c d
Q) i ii Y ii
(2) i v i ii
(3) i Y Ii [
(4) iii [ Ii v
49. ®UF —| : TRIMS (fom) Tweiar fogen Fasmept w o T 9t 3feren uidel &1 S

FATE |

FUA— |l : TRIMS (fTm) queian favig &9 & [l 399 % wee W Uiy o &l -
FAT & T TROTHEET BRe] SeaTeT i TREI0T THeAdT & 37 ST heT STes
TS |

B

(1) == WE e, Wl T T E |

(2) FuF I TEE, W | TR E |

(3) FuT I AR I W E |

(4) FF | 3| S TE T E

50. AMWHYUF (A) : = % IF H H GUR e qh 3WceT I & U g et IoTeal T ToTe]
T ST G AT |
% (R) . TR ¥ § 9YRA i T A Tl Jeddr T 3o 3 SR 3o
Tfed 21eae 3 W R E |

&<

(1) (A) 3R (R)3HT @&t €, W (R), (A) FT Tel ST Fal € |
(2) (A)WE g, g (R)TE &I ¢ |

(3) (A) 3R (R) I Tel & 3T (R), (A) FT el TWEIHT ¢ |
(4) (A) 3R (R) I T&t 7@l & |
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